

ABSTRACT

Disaster Management – Northeast Monsoon 2023 - Sanction a sum of Rs.160,42,41,781/- Input subsidy under SDRF for Agricultural crops damages and Rs.41,24,74,680/- Input subsidy under SDRF for Horticultural crops damages in 8 Southern Districts viz., Kanniyakumari, Madurai, Ramanathapuram, Sivagangai, Tenkasi, Tirunelveli, Thoothukudi and Virudhunagar – Orders - Issued.

Revenue and Disaster Management Department, Disaster Management Wing, D.M.II section

G.O.(Ms)No.58

Dated:20.02.2024 சோபகிருது வருடம், மாசி 08 திருவள்ளுவர் ஆண்டு 2055.

Read:

- 1. G.O.(Ms).No.579, Revenue and Disaster Management (DM III (2)) Department, dated:09.12.2023.
- 2. The Commissioner of Agriculture, Letter No.G1/4254/2024, dated: 19.01.2024.
- 3. The Director of Horticulture and Plantation Crops, Chepauk, Chennai, Letter No.Trg./18673/ 2023, dated 20.01.2024.
- 4. From the Additional Chief Secretary/ Commissioner of Revenue Administration and State Relief Commissioner, Letter No. N.C.1(3)/80/2024, Dated: 24.01.2024 and 01.02.2024.

ORDER:

During the Northeast Monsoon 2023, the State faced unprecedented Extremely Heavy Rainfall on 17.12.2023 and 18.12.2023 in southern districts. The unprecedented historic rainfall has far exceeded the season's normal rainfall at many places. In some places, it has exceeded even annual rainfall for the region in a single day. Due to this, Agricultural and Horticultural crops were damaged in southern Districts.

2. In the letter fourth read above, the Additional Chief Secretary/ Commissioner of Revenue Administration and State Relief Commissioner has stated as follows: -

Agriculture:

a) The Commissioner of Agriculture has requested to sanction a sum of Rs. Rs.160,42,41,781/- to extend SDRF input subsidy to 1,98,174 affected farmers whose Agricultural crops were

damaged in an area of 164866.0309 ha due to unprecedented extremely heavy rainfall during the month of December 2023 in 8 districts viz. Kanniyakumari, Madurai, Ramanathapuram, Sivagangai, Tenkasi, Tirunelveli, Thoothukudi and Virudhunagar.

Table - A

<u>Agricultural Crop Damages and Input Subsidy Assistance</u> (Small and Marginal Farmers)

	·	Total	Out of (3) are SMF (i		Total No. of Farmers	Assistance sous categorie (Amoun	s of crops		
S. NO	District	Agricultural area where crop loss is >33% (in ha.)	Rainfed Irrigated		·	Rainfed (Paddy Rs. 17000 and other than paddy Rs. 8500 per Ha.)	Irrigated (Rs. 17000 per Ha.)	Total Assistance sought (Amount in Rs)	
1	2	3	4	5	6	7	8	9	
1	Kanniyakumari	93.5265	<u>-</u>	93.5265 (a)	296	; · •	16,23,110.00	16,23,110.00	
2	Madurai	461.0665	28.3480	432.7185 (b)	930	2,40,958.00	73,79,925.19	76,20,883.19	
3	Ramanathapuram	10,128.2050	7,951.1250 (c)	2,177.0800 (d)	15,192	11,85,30,410.00	3,70,16,160.00	15,55,46,570.00	
. 4	Sivagangai	147.8350	17.1900(e)	130.6450 (f)	380	2,93,130.00	22,38,830.00	25,31,960.00	
5	Tenkasi	22,568.5230	21,973.2920	595.2310	22,701	18,67,72,982.00	1,01,18,927.00	19,68,91,909.00	
6	Tirunelveli	6,318.6100	4,004.0120(g)	2,314.5980 (h)	11,353	3,40,44,052.00	3,96,84,982.00	7,37,29,034.00	
7	Thoothukudi	55,743.9326	50,153.6287(i)	5,590.3039(j)	77,768	42,73,91,080.00	9,54,07,134.00	52,27,98,214.00	
8	Virudhunagar	12,319.3650	10,488.3000(k)	1,831.0650 (I)	15,427	9,23,10,909.00	3,12,18,559.70	12,35,29,468.70	
	Total	1,07,781.0636	4,615.896	13,165.168	1,44,047	85,95,83,521.00	22,46,87,627.89	1,08,42,71,148.89	

Note:

- (a) In Kanniyakumari District, out of 93.5265 ha irrigated crops, Minimum Assistance for 65(65*2000=130000) farmers has been given for an area of 5.6965 ha (93.5265-5.6965=87.83)
- (b) In Madural District, out of 432.7185 ha under Irrigated crops, Paddy area is 430.7785 ha for which Minimum Assistance for 25 farmers (25*2000=50000) has been given for an area of 1.5464 ha (430.7785-1.5464=429.23207)
- (c) In Ramanathapuram District, out of 7951.125 ha under total Rainfed area (7951.125-5992.2450 = 1958.88 ha), Paddy area is 5992.2450 ha for which Minimum Assistance for 14 farmers (14*2000 = 28000) has been given for an area of 0.9550 ha
- (d) In Ramanathapuram District, out of 2177.0800 ha under total Irrigated area (2177.0800- 0.6000 = 2176.48 ha) for which Minimum Assistance for 8 farmers (8*2000 = 16000) has been given for an area of 0.6000 ha
- (e) In Sivagangai District, out of 17.19 ha under Rainfed Paddy Minimum Assistance for 3 farmers (3*2000=6000) has been given for an area of 0.30 ha (17.19-0.30 = 16.89)
- (f) In Sivagangai District, out of 130.645 ha under irrigated Paddy Minimum Assistance for 40 farmers (40*2000=80000)has been given for an area of 3.655 ha (130.645-3.655=126.99)
- (g) In Tirunelveli District, out of 4004.0120 ha under rainfed crops Minimum Assistance for 55 farmers (55*1000 = 55000) has been given for an area of 5.30 ha (4004.0120-5.30 = 3998.712)
- (h) In Tirunelveli District, out of 2314.598 ha under irrigated crops Minimum Assistance for 671 (671*2000 = 1342000) farmers has been given for an area of 59.1285 ha (2314.598-59.1285 = 2255.4695)
- (i) In Thoothukudi District, out of 50153.6287 ha under total Rainfed area ,Paddy area is 127.2355ha (50153.6287-127.2355=50026.3932 & In Thoothukudi District, out of 50153.6287 ha under total Rainfed area other than Paddy area is 50026.3932 ha for which Minimum Assistance for 19 farmers (19*1000=19000) has been given for an area of 1.79589 ha
- (j) In Thoothukudi District, out of 5590.3039 ha under total Irrigated area Minimum Assistance for 585 (585*2000 = 1170000) farmers has been given for an area of 46.9431 ha (5590.3039-46.9431 = 5543.3608)
- (k) In Virudhunagar District, out of 10488.30 ha under total Rainfed area, Paddy area is 368 ha for which Minimum Assistance for 83 farmers (83*2000=166000) has been given for an area of 9.7018 ha (368.0-9.7018=358.2982)and In Virudhunagar District, out of 10488.30 ha under total Rainfed area, other than Paddy area is 10120.30ha for which Minimum Assistance for 960 farmers (960*1000=960000) has been given for an area of 109.26 ha (10120.30-109.26=10011.04)
- (i) In Virudhunagar District, out of 1831.065 ha under irrigated crops Minimum Assistance for 131 farmers (131*2000=262000) has been given for an area of 10.0908 ha (1831.065-10.0909=1820.9741)

Table - B

<u>Agricultural Crop Damages and Input Subsidy Assistance</u> (Non - Small and Marginal Farmers)

		Total	Out of (3) Area belonging to other than SMF		Total No.	Assistance soug categories (Amoun	Total Assistance Sought (Amount in Rs)	
SI. No	District	Agricultural Area where Crop Loss is > 33%			of Farmers	Rainfed (Paddy Rs. 17000 and other than paddy Rs. 8500 per Ha.)	Irrigated (Rs. 17000 per Ha.)	
			Rainfed	Irrigated	Î			. <u> </u>
1	2	3	4	5	6	7	8	99
1	Kanniyakumari	18.25		18.2500	12		3,10,250.00	3,10,250.00
2	Madurai	91.917	4.8970	87.0200	84	41,624.50	14,79,340.00	15,20,964.50
3	Ramanathapuram	1425.325	879.9350(a)	545.3900	739	1,40,77,147.50	92,71,630.00	2,33,48,777.50
4	Sivagangai .	13.05		13.0500	20		2,21,850.00	2,21,850.00
5	Tenkasi	1124.8526	1,051.54	73.3126	594	89,38,090.00	12,46,314.20	1,01,84,404.20
6	Tirunelveli	1270.0883	706.65	563.4383	947	60,06,525.00	95,78,451.10	1,55,84,976.10
7	Thoothukudi	51576.6567	49,909.65(b)	1,667.0067	50,437	42,48,59,820.00	2,83,39,113.90	45,31,98,933.90
8	Virudhunagar	1564.825	1,294.30	270.5250	1,294	1,10,01,550.00	45,98,925.00	1,56,00,475.00
	Total	57084.9646	53,846.97	3,237.99	54,127	46,49,24,757	5,5045,874.20	51,99,70,631.20

(a) In Ramanathapuram district Out of 879.935 ha in Rainfed area, Assistance for Paddy crop in 776.20 ha has been given (879.935-776.20=103.735)

(879.935-776.20=103.735)
 (b) In Thoothukudi district Out of 49909.65 ha in Rainfed area, Assistance for Paddy crop in 73.8555 ha has been given. (49909.6527-73.8555=49835.7972)

Abstract-I

Agricultural Crop Damages and Input Subsidy Assistance (for both SMF & Non-SMF)

			Area (F	la.)		· · · ·	
S. No.	District	Total Agricultural area where crop loss is >33% (in ha.)	Rainfed	Irrigated	Total No. of Farmers	Total Assistance sought (Amount in Rs)	
1	2	3	4	5	6	7	
1	Kanniyakumari	111.7765		111.777	308	19,33,360.00	
2	Madurai	552.9835	33.245	519.739	1,014	91,41,847.69	
3	Ramanathapuram	11,553.5300	8,831.060	2,722.470	15,931	17,88,95,347.50	
4	Sivagangai	160.8850	17.190	143,695	400	27,53,810.00	
5	Tenkasi	23,693.3756	23,024.832	668.544	23,295	20,70,76,313.20	
6	Tirunelveli	7,588.6983	4,710.662	2,878.036	12,300	8,93,14,010.10	
7.	Thoothukudi	1,07,320.5920	1,00,063.281	7,257.311	1,28,205	97,59,97,148.00	
8	Virudhunagar	13,884.1900	11,782.600	2,101.590	16,721	13,91,29,943.70	
	Total	1,64866.0309	1,48,462,870	16,403.160	1,98,174	1,60,42,41,780.09	

Horticultural:

b) The Director of Horticulture has requested to sanction a sum of Rs.41,24,74,680/to extend **SDRF** input subsidy 62,735 affected farmers whose Horticultural crops were damaged in an area 38840.2247 Ha due to unprecedented extremely heavy rainfall during the month of December - 2023 in 8 districts viz. Kanniyakumari, Madurai, Ramanathapuram, Sivagangai, Tenkasi, Tirunelveli, Thoothukudi and Virudhunagar.

Table - C Horticultural Crop Damages - Input Subsidy Relief Assistance [Small and Marginal Farmers)

SI		Total Horticultur	Area (Ha)			Assistanc cat	Total Assistance sought (In Rupees)	No. of farmers		
N O	District	al Area where Crop Loss is > 33%	Rainfed	Irrigated	Perennial	Rainfed @ Rs. 8500/Ha	Irrigated @ Rs. 17000/Ha	Perennial @ Rs.22500/ Ha		
1	2	3	4.	5	6	7	8	9	10=7+8+9	11
1	Kanniyakumari	22.0702	0.000	22.0302(d)	0.040 (1)	0.0	385945.0	2500	388445	72
2	Madurai	11.250	0.000	11.250 (e)	0.000	0.0	191550.0	0	191550	22
3	Ramanathapuram	11,666.140	10054.785(a)	1611.355 (f)	0.000	85546672.5	27488035.0	0	113034707.5	15785
4	Sivagangai	5.200	0.000	5.200 (g)	0.000	0.0	89805.0	0	89805	16
5	Tenkasi	162.0298	0.000	161.3998 (h)	0.630 (m)	0.0	2798967	15100	2814067	627
6	Thirunelveli	272.3660	0.000	264.361 (i)	8.005(n)	0.0	4641315.00	182212.5	4823528	1058
7	Thoothukudi	13,877.7516	9011.5467(b)	4686.5249 (j)	179.680(o)	76599234	79946897	4047250	160593381	27496
8	Virudhunagar	929.9246	837.7614(c)	91.8732(k)	0.290(p)	7123392	1571939	8125	8703456	1707
Tota	il	26946.732	19904.093	6853.9941	188.645	169269298.50	117114452.90	4255188	290638939	46783

Note:

- (a) In Ramanathapuram District, out of 10054.785 ha under Rainfed crops, Minimum Assistance for 438(438*1000=438000) farmers has been given for an area of
- 42.00 ha (10054.785 ha -42.00 ha =10012.785 ha.)
 In Thoothukudi District, out of 9011.5467 ha under Rainfed crops Minimum Assistance for 3(3*1000=3000) farmers has been given for an area of 0.225 ha (b) (9011.5467 ha -0.225 ha = 9011.3217 ha.)
- (c) In Virudhunagar District, out of 837.7614 ha under Rainfed crops Minimum Assistance for 7 (7*1000=7000) farmers has been given for an area of 0.5388 ha (837.7614 ha - 0.5388 ha = 837.2226 ha.)
- (d) In Kanniyakumari District, out of 22.0302 ha under Irrigated crops Minimum Assistance for 18 (18*2000=36000) farmers has been given for an area of 1.4452 ha (22.0302 ha ~ 1.4452 ha = 20.585 ha.)
- In Madurai District, out of 11.250 ha under Irrigated crops Minimum Assistance for 1 (1*2000=2000) farmers has been given for an area of 0.1 ha (11.250 (e) (f)
- In Ramanathapuram District, out of 1611.355 ha under Irrigated crops Minimum Assistance for 260 (260*2000=520000) farmers has been given for an area of 25.00 ha (1611.355 ha 25.0 ha = 1586.355 ha.) In Sivagangai District, out of 5.200 ha under Irrigated crops Minimum Assistance for 1 (1*2000=2000) farmers has been given for an area of 0.035 ha (5.200
- ha 0.035 ha = 5.165 ha.)

 In Tenkasi District, out of 161.3998 ha under Irrigated crops Minimum Assistance for 121 (121*2000=242000) farmers has been given for an area of 10.99 (h)
- ha (161.3998 ha 10.99 ha = 150.4098 ha.) In Tirunelveli District, out of 264.361 ha under Irrigated crops Minimum Assistance for 228 (228*2000=456000) farmers has been given for an area of 18.166 ha (264.361 ha - 18.166 ha = 246.195 ha.) (i)
- (j) In Thoothukudi District, out of 4686.5249 ha under Irrigated crops Minimum Assistance for 445 (445*2000=890000) farmers has been given for an area of 36.1192 ha (4686.5249 ha - 36.1192 ha = 4650.4057 ha.)
- In Virudhunagar District, out of 91.8732 ha under Irrigated crops Minimum Assistance for 26 (26*2000=52000) farmers has been given for an area of 2.465 (k) ha (91.8732 ha - 2.465 ha = 89.4082 ha.)
- In Kanniyakumari District, out of 0.040 ha under perennial crops Minimum Assistance for 1 (1*2500=2500) farmers has been given for an area of 0.04 ha. In Tenkasi District, out of 0.630 ha under perennial crops Minimum Assistance for 1 (1*2500=2500) farmers has been given for an area of 0.07 ha. (0.630) ha. - 0.07 ha. = 0.56)
- In Tirunelveli District, out of 8.005 ha under perennial crops Minimum Assistance for 3 (3*2500=7500) farmers has been given for an area of 0.07 ha. (8.005) (n) ha. - 0.07 ha. = 7.765)
- · (o) In Thoothukudi District, out of 179.680 ha under perennial crops Minimum Assistance for 7 (7*2500=17500) farmers has been given for an area of 0.58 ha. (179.680 ha. - 0.58 ha. = 179.100)
- In Virudhunagar District, out of 0.290 ha under perennial crops Minimum Assistance for 1 (1*2500=2500) farmers has been given for an area of 0.04 ha. (g) (0.290 - 0.04 ha. = 0.250)

<u>Table - D</u> Horticultural Crop Damages - Input Subsidy Relief Assistance [Non- Small and Marginal Farmers

	Area (Ha) Total Horticultur				Assistance sou	ight for differe of Crops (In Rupees)	Total Assistance sought (In Rupees)	No. of farmers		
SI. No	District	al Area where Crop Loss is > 33%	Rainfed	Irrigated	Perennial	Rainfed @ Rs. 8500/Ha	Irrigated @ Rs. 17000/Ha	Perennial @Rs.22500/ Ha		
1	2	3	· 4	5	6	7	8	9	7=6A+6B+6C	8
1	Kanniyakumari	12.900	0.00	8.200	4.70(a)	0.00	139400	67500	206900.0	8
2	Madurai	0.000	0.00	0.00	0.00	0.00	0	0	0.0	0
3	Ramanatha puram	1874.885	1652.825	222.06	0.00	14049012.50	3775020	0	17824032.5	1124
4	Sivagangai	23.970	2.985	20.985	0.00_	25373	356745	0	382118	50
5	Tenkasi	5.490	0.00	3.43	2.06 (b)	0.00	58310	45000	103310.0	4
6	Thirunelveli	117.025	0.00	107.88	9.145	0.00	1833960	205762.50	2039722.5	247
7	Thoothukudi	9524.005	7547.2125	1883.4074	93.3855	64151306	32017926_	2101174	98270405.8	14002
8	Virudhunagar	335.217	316.6721	18.135	0.41	2691713	308295	9225.0	3009233.0	517
	Total	11,893.493	9,519.6946	2,264.0974	109.7005	8,09,17,404	3,84,89,656	24,28,662	12,18,35,721.80	15,952

(a) In Kanniyakumari District, out of 4.70 ha. Under perennial crop loss 33% and above, subject to ceiling of 2 ha. Per farmer (1 farmer - 1 ha. & 1 farmer - 3.7 ha (restricted to 2 ha.) (3*22500=67500)

3.7 ha (restricted to 2 ha.) (3*22500=67500)

(b) In Tenkasi District, out of 2.06 ha. Under perennial crop loss 33% and above, subject to ceiling of 2 ha. Per farmer (1 farmer - 1.5 ha.(coconut) & 0.56 ha (Guava) (restricted to 2 ha.) (1.5*22500=33750 & 0.5*22500=11250)

Abstract-II

Horticultural Crop Damages and Input Subsidy Assistance [for both SMF & Non-SMF]

				Total Area (Ha) 3 SMF & Non -SMF		Total Area (Ha) Total Area cate				categories	ssistance sought for different ategories of Crops (in Rupees) SMF & Non- SMF			Total Rounded off (In Rupees)	Total no. of farmers
SI. No	District	Rainfed	Irrigated	Perennial		Rainfed @ Rs. 8500/Ha	Irrigated @ Rs. 17000/Ha	Perenni al @ Rs.2250 0/Ha							
1	Kanniyakumari	0.000	30.230	4,740	34.970	0	525345	70000	595345	595350	80				
2	Madurai	0.000	11.250	0.000	11.250	, 0	191550	0	191550	191550	22				
3	Ramanathapuram	11707.610	1833.415	0.000	13541.025	99595685	31263055	0	130858740	130858740	16909				
4	Sivagangai	2.985	26.185	0.000	29.170	25373	446550	0	471923	471930	66				
5	Tenkasi	0.000	164.830	2.690	167.520	0	2857277	60100	2917377	2917380	631				
6	Thirunelveli	0.000	372.241	17:150	389.391	0	6475275	387975	6863250	6863250	1305				
7	Thoothukudi	16558.759	6569.932	273.066	23401.757	140750540	111964823	6148424	258863787	258863790	41498				
8	Virudhunagar	1154.434	110.008	0.700	1265.142	9815105	1880234	17350	11712689	11712690	2224				
	. Total	29423.788	9118.0915	298.3455	38840.2247	250186703	155604109	6683849	41247466D	412474680	62735				

- c) The above proposals have been examined with the Government Order first read above and Hon'ble Chief Minister Press Release No.2470, dated: 09.12.2023 and the above proposal is found eligible under the Funding Window "Relief and Response" of State Disaster Response Fund (SDRF).
- d) Hence, in total Rs.201,67,16,460/- is required to pay as input subsidy to 2,60,909 farmers for an extent of 2,03,706.2556 Ha.

SI. No	Department	Extent of the Crops Damaged (In Hec.)	No. of farmer affected	Fund requirement for the Damaged Crops (In Rupees)
1	Agriculture	1,64,866.0309	1,98,174	160,42,41,781
2	Horticulture	38,840.2247	62,735	41,24,74,680
	(TOTAL	2,03,706.2556	2,60,909	201,67,16,460

- 3. The Additional Chief Secretary/ Commissioner of Revenue Administration and State Relief Commissioner has therefore recommended the proposals of the Commissioner of Agriculture and the Director of Horticulture Department as follows:
 - a) To sanction a sum of Rs.160,42,41,781/- to extend State Disaster Response Fund (SDRF) input subsidy to 198174 affected farmers whose Agricultural crops were damaged in an area of 1,64,866.0309 ha due to unprecedented extremely heavy rainfall during the month of December 2023 in 8 districts viz Kanniyakumari, Madurai, Ramanathapuram, Sivagangai, Tenkasi, Tirunelveli, Thoothukudi and Virudhunagar.
 - b) Rs.41,24,74,680/- to extend State Disaster Response Fund (SDRF) input subsidy to 62,735 affected farmers whose Horticultural crops were damaged in an area 38,840.2247 Ha due to unprecedented extremely heavy rainfall during the month of December 2023 in 8 districts viz., Kanniyakumari, Madurai, Ramanathapuram, Sivagangai, Tenkasi, Tirunelveli, Thoothukudi and Virudhunagar.
- 4. The Government after careful examination, accept the proposals of the Additional Chief Secretary / Commissioner of Revenue Administration and State Relief Commissioner and based on the approval of the above proposal in the State Executive Committee, hereby accord the following:
 - a) sanction a sum of Rs.160,42,41,781/- (Rupees One hundred and Sixty Crore Forty Two Lakhs Forty One Thousand Seven Hundred and Eighty One Only) to extend State Disaster Response Fund (SDRF) input subsidy to 1,98,174 affected farmers whose Agricultural crops were damaged in an area of 1,64,866.0309 ha due to unprecedented extremely heavy rainfall during the month of December-2023 in 8 districts viz., Kanniyakumari, Madurai, Ramanathapuram, Sivagangai, Tenkasi, Tirunelveli, Thoothukudi and Virudhunagar and
 - b) sanction a sum of Rs.41,24,74,680/- (Rupees Forty One Crore Twenty Four Lakhs Seventy Four Thousand Six Hundred and Eighty Only) to extend State Disaster Response Fund (SDRF) input subsidy to 62,735 affected farmers whose Horticultural crops were damaged in an area 38,840.2247 Ha due to

unprecedented extremely heavy rainfall during the month of December-2023 in 8 districts viz., Kanniyakumari, Madurai, Ramanathapuram, Sivagangai, Tenkasi, Tirunelveli, Thoothukudi and Virudhunagar.

5. The amount Sanctioned in para 4 above shall be debited to the following heads of account: -

"2245 Relief on account of Natural Calamities – 02 – Flood, Cyclones etc., 114 – Assistance to Farmers for purchase of Agricultural inputs – State's Expenditure – AA Subsidy to Small and Marginal Farmers for Agricultural Inputs due to Flood- 311 Subsidies 01 Individual Based Subsidy (IFHRMS DPC 2245-02-114-AA-31101)".

... Rs.160,42,41,781/-

"2245 Relief on Account of Natural Calamities – 02. Flood, Cyclones, etc., - 800 Other Expenditure – State's Expenditure – BH Relief measures to farmers due to damage of Horticultural Crops in Flood affected areas – 311 subsidies - 01 Individual Based Subsidy (IFHRMS DPC 2245-02-800-BH- 31101)".

.... Rs.41,24,74,680/-

- 6. Necessary additional funds of Rs.201,67,16,460/- will be provided in Final Modified Appropriation / Final Supplementary Estimate 2023-2024.
- 7. This order issues with the concurrence of Finance Department vide U.O.No.6734547/Fin(Rev)/2024, dated: 20.02.2024.

(BY ORDER OF THE GOVERNOR)

V. RAJARAMAN SECRETARY TO GOVERNMENT

To

The Additional Chief Secretary/ Commissioner of Revenue Administration and State Relief Commissioner, Chepauk, Chennai – 600 005.

The Agricultural Production Commissioner and Principal Secretary to Government, Agriculture – Farmers Welfare Department, Secretariat, Chennai-600009.

The Commissioner of Agriculture, Chepauk, Chennai-600005.

The Director of Horticulture and Plantation Crops, Chepauk, Chennai-5.

The Director, Disaster Management,

Tamil Nadu Disaster Risk Reduction Agency, Chepauk, Chennai -5.

The District Collector, Kanniyakumari, Madurai, Ramanathapuram, Sivagangai, Tenkasi, Tirunelveli, Thoothukudi and Virudhunagar Districts.

The District Treasury Officer, Kanniyakumari, Madurai, Ramanathapuram, Sivagangai, Tenkasi, Tirunelveli, Thoothukudi and Virudhunagar Districts.

The Accountant General, Chennai - 600018.

The Pay and Accounts Officer (East), Chennai - 600008.

Copy to:

The Additional Chief Secretary to Government,
Water Resources Department, Secretariat, Chennai - 600009.

The Additional Chief Secretary to Government, Highways and Minor Ports Department, Secretariat, Chennai-600009.

The Additional Chief Secretary to Government,

Health and Family Welfare Department, Secretariat, Chennai-9.

The Principal Secretary to Government,

Home, P & E Department, Secretariat, Chennai - 600009.

The Principal Secretary to Government, Finance Department, Secretariat, Chennai-600009.

The Principal Secretary to Government,
Public Works Department, Secretariat, Chennai-600009.

The Chief Minister's Office, Secretariat, Chennai 600009.

The Special Personal Assistant to Hon'ble Minister for Revenue and Disaster Management, Secretariat, Chennai – 600 009.

The Senior Principal Private Secretary to Chief Secretary to Government, Secretariat, Chennai-600009.

The Private Secretary to Secretary to Government, Revenue and Disaster Management Department, Secretariat, Chennai - 600009.

The Finance (Revenue/BG-I/BG-II/W&M-I) Department, Secretariat, Chennai -600009.

The Revenue and Disaster Management [OP-III/ DM-III(2)] Department, Secretariat, Chennai -600009. S.F./S.C.

//FORWARDED BY ORDER//

SECTION OFFICER